CoMICA®
PROFESSIONAL AUDIO EQUIPMENT C V M - V M 1 D - K [ 1’ 2 , 3 , 4]
Mini & Flexible Smartphone Video Kit

User Manual




FT—



Foreword

Thanks for purchasing Comica Multi-functional Smartphone Video Kit, it's designed in many
different combinations for your versatile use, and integrated into multi-functions like: 'Bluetooth
One-touch Control's  ‘Exiquisite Smartphone Clamp’. 'Extensible with Flexible Combinations'
etc., which can make your shooting more professional.

To ensure the safety of the product, please carefully read the user manual for correct
installation and operation.

N =

Q0 A W

~

Notice

. Be careful to follow the assembly steps, otherwise, the parts cannot be paired, which will

affect the use.

This product has a variety of assembly methods, please assemble correctly according to the
needs of users.

Bluetooth remote control is an electronic component. Do not use it in rain or humid environ-
ment.

This product has many small parts, please do not swallow it to avoid life-threatening

Do not throw away used batteries, so as to avoid environmental pollution.

This Bluetooth remote control is small in size, so please do not place it at will, causing loss and
affecting use.

. Please read the user manual carefully before using.




Main Features

. Detachable Electronic Bluetooth Remote Control for One-touch Video Shooting;
. Compatible with both 10S and Android System;

. Exquisite Smartphone Clamp, Easy to Install;

. Extensible with Flexible Combination;

. Fit for External Accessories like Microphones, LED lights, etc;

. All Metal Material with CNC Processing, Solid and Durable;

() &) [

One-touch  Detachable Bluetooth Easy to install Flexib!
control remote control combmanon 10S and Androwd processmg




Package Contents

CVM-VM10-K1 Package Contents :

1. Microphone
2. Flexible Smartphone Clamp

3. Ordinary Handle Grip (1/4 screw)

4. TRS-TRRS Audio Output Cable for Smartphone
5.
6
7
8

WindMuff

. Portable Case
. User Manual
. Warranty Card

°§
ﬁ




CVM-VM10-K2 Package Contents :

Microphone

Flexible Smartphone Clamp

Tripod

TRS-TRRS Audio Output Cable for Smartphone
WindMuff

Portable Case

User Manual

. Warranty Card

©NDO AW =




CVM-VM10-K3 Package Contents :

. Microphone
. Flexible Smartphone Clamp

. Electronic Handle Grip

. Handle Grip Screw

TRS-TRRS Audio Output Cable for Smartphone
WindMuff

. Portable Case
. User Manual

. Warranty Card

©CONDOAWN




CVM-VM10-K4 Package Contents :

. Microphone
. Flexible Smartphone Clamp
. Ordinary Handle Grip(3/8 Screw Hole)
. Handle Grip Screw
. Connecting Rod
Cold Shoe

. Connecting Screw

. TRS-TRRS Audio Output Cable for Smartphone
. Windmuff

10. Portable Case

12. Warranty Card
® ® @

©O~NDOA WN




Installation Instructions

Flexible Smartphone Clamp:

1. Install your smartphone onto the flexible smartphone clamp




2. Connect the microphone to the Smartphone clamp




3. Connect the microphone to your smartphone with TRS-TRRS audio output cable

(% 1. Please note that you should connect Cable's TRS end to the
microphone, and Cable's TRRS end to the smartphone.
Otherwise it'll not work.

2. While you work with the smartphone with Lightning or Type-C
interface, you should buy(3.5mm-Lightning, 3.5mm-Type-C) and
connect the cable adapter separately. m




Handle Grip

CVM-VM10-K1 Kits :
Install the flexible smartphone clamp to the ordinary handle Grip (with 1/4 Screw ),

then fixing them through smartphone clamp locking screw.

Smartphone Clamp Locking Screw




CVM-VM10-K2 Kits :

Install the flexible smartphone clamp to the tripod, then fixing them through
smartphone clamp locking screw, and adjust to the suitable angle for shooting.

Smartphone Clamp Locking Screw

Tripod Adjusting
Screw




CVM-VM10-K3 Kits :
Install the smartphone clamp to the electronic handle grip, lock them through
smartphone locking screw.

Smartphone Clamp Locking Screw




CVM-VM10-K4 Kits :

1. Install the cold shoe, connecting thread screw,ordinary thread screw and

connecting rod to ordinary handle grip(with 3/8 Screw )

1/4 Screw@

3/8 Screw

Iy




2. Install the flexible smartphone clamp to ordinary handle grip(with 3/8 Screw ),
then lock them through smartphone clamp screw

Smartphone Clamp Locking Screw




Bluetooth Remote control Instruction

First Step: Start the Bluetooth Remote Control
Press and hold for 2 seconds to start the Bluetooth remote control. When the
blue light flickers, find and connect the ViewFlex-H on the smartphone
Bluetooth device. If itis connected, the blue light will go out; if it is not connect-

Viewflex-H

Viewflex-H




Second Step: Functional operation

Photo Mode:

1. (In the Bluetooth remote control state) When the phone is connected to the
ViewFlex-H Bluetooth device, adjust the smartphone to the photo mode. At this
time, the Bluetooth remote control button can replace the smartphone photo
button. Short press once, the green light will flicker 3 times and take a picture




. Press and hold the Bluetooth remote control button for three seconds, when the
green light is on, release the button, and the green light flickers 3 times, the
smartphone enters the automatic continuous shooting mode (The continuous
shooting time lasts for 3 seconds, and the number of photos is subject to the
smartphone)

(% Continuous shooting function is only used for rear camera




Video Mode:

Enter the smartphone video mode, short press the Bluetooth remote control
button, the smartphone starts recording, press the Bluetooth remote control
button again, then the green light flickers 3 times and the video recording ends

(% Bluetooth Disconnection:

1. Automatic disconnect
After 10 minutes of no operation, Bluetooth remote
control automatically turns off.

2. Manual disconnect
Press and hold the Bluetooth remote control button
for 6 seconds. When the blue light is on and start
flickering once every second, the smartphone is
disconnected from the Bluetooth remote control, and
you can reconnect different smartphones




Specification

Microphone
Polar Pattern Cardioid
Frequency Range 60Hz~20kHz
Sensitivity -33dB +2dB
Signal/Noise >75dB
Maximum SPL >105dB
Operating Voltage 1.0vV~10V
Polar Pattern Frequency Response
00—
ol
0
20—
€ -
T 0 ~
@ -10—
20—
30—
0-

| | |
10 100 1000 10000

1/3 Smoothed Frequency Response (Hz)




Bluetooth Remote

Version 3.0
Effective Distance 10m
Battery CR2032 x 1
Power off automatilly while no operation| 10 Minutes

Size

35x25x8.4mm




COMICA §°
oooooooooooooooooooooooooo CVM'VM1D'K[1,E,3,4]
ZUREFIERBGEER

H

PR A B



FT—



S

Al =

I

i

BRI T Comi ca/ B CVM-VML0-K (1,2, 3,4) ZIMREFHL L HIEGER .

AT SRR S BT T A, SRRCT BRI B s AR R
FREFE” 5 “HAHTOSMZHRAG” ; “FHRWIRIG SRR ; “IEEitm, LR
WA s ADAMERTN, OGIT SRS Ihe, ALE I BRIk

FIORAEF= b (K22 A, VSRR AT A% DS A B 15, IR IERHALEE S A

L. VR IR D TR, 75 000 i R T P T Ve 0 £

2. A7 AT SIS BER, EAR AP 7 B IR AL

3. W BRI T BT HE, 15207 NG P B PR

4 RPN S, WO, R

5. B IF L% ) Bt 7, 34 PR B U

6. AU TSR BUNTG, IR, R R A

7. A5 FTTRI 7-400 B 15 F N




7 BT RE

CATPREIE AR T T R, B AT A
L HRRIOSHI %2 B A G
TR RS T 5w
CERVESR, A RIEHSA
CATAMEEEE TR, ANEKT SR I s

LA JBCONCHN LR, A i

&L?ﬁ*’ ?Hﬂv HE?*L ﬂuuﬂ m»los%ux\ﬁ & CNCﬁDT




(SR
CVM-VM10-K1 &% .
L TR
L IRETFHLR
WEF (1/43842)
TRS—TRRS 7 4Jifi 1 2%
B X E
(0,
PR
8. Rz

NS @ wN




CVM-VM10-K2 &3 .
F TR
ZIRETHLI
=R
TRS-TRRS % #it4r i £k
B A E

fEifE (0,

PR

8. 15+

NSO G wN e




CVM-VM10-K3E&3
1. & TR

2. ZYIRETFHLR

3. LT FAR

4. FHRuR L

5. TRS-TRRS ¥ i H £k
6. Bi T

7 AHEIER

8. BLEHS

9. 15+




CVM-VM10-K4& 2% .
1. &5

2. ZREFHL K

3. 38 F4 (3/84L)

4. FHiige

5.

6. ¥t

7. BB

8. TRS-TRRS & #ih ! £&
9. Bi XE

10. fHi%4

1. 4

12. R+

@)



LRDR

ZINRETHLR A 23
L AR L B2 e FHLR




2 BRI Z R Z DIRETHLK 1




3. JEIE “TRS-TRRS# A4 H 2R ” 22 v AT WL 32

(T B FHG 22 50 AT EE BRI, 175 45 00 Y 7 355 AU S 48 10 1 1 2055 «
H4 TR (3. 5mm =7T5) BEREFEZE X, KETRRS %4 (3. 5mm PUT5)
HEBEEFH. B REwR kR T,




FANHI 25
CVM-VMI0-K1 5%«
L IRETHIIEFNGETH CF /AR b, BTl & 88 e




CVM-VM10-K2£E&: 2% .
X IRETHRZRRI =ML, i T e SRR e, i =AM 8ie
TG ) AR

=
Bl 14T




o T i R R ]

ERRCSIRL BB T T, CZ ATk LR T TN,

CVM-VM10-K3E&: 2.




CVM-VM10-K4E2:
LA, BRI . BRI MUERAT S AT R IR R T7 [ 2 BB TN (3/84L)




2. ¥ Z DB T I 220 2108 T4 (3/84L) » Il RL T-HLK [A] 52 MR AL [




R A A
S SR B TR R

KGR A %, BT INERIG, £ T AR B LA Viewf lex-HEE S

Bk, XN Rl REE L, WEITEK nBoEs b, BAT B 1R N

Viewflex-H

Viewflex-H




P URERAE

EELCE

L (FEREAEEITIVRE T EFHUER EViewflex-HEF B0, KFHIMER
WETL, X W R R AR AR, IR, ST RN =K
» MK,




2. BRI R kg, e s)n, MOTHE, SJTN3 TR, FILEAAS

BB GERRHCSTY, R FHLIE RISk A 2D

o &M R T 5 B4k




SRAG: BEANTHURG P, R @it FAUTRRG, BT
REPEREE, IXIGAT NS, M A

(& WiFiss::
1. BahlIT
FTEAEL05 B G, WP 1B % 1 3% ]

2. FEWTIT
KAl i it rd, BN SRR AIE —
FINHR— K, NIFHLSG 8 BRI ER:, X a)
FHOEBEAH T




E AL

e ) P vy

A 60Hz"20kHz
REE -33dB +2dB
IELE >75dB

2 NSV 274 >105dB
TAEdE L. ov~10V

IS

Frequency;

dBre 1V/Pa

P ESI

| |
100 1000
1/3 Smoothed Frequency Response (Hz)



5

B g

E

WA M 3.0
R 10m

Ha it CR2032 x 1
oA A Z) BN [A) 1044k
G 35x25x8. 4mm




FT—



FT—



FT—



www.comica-audio.com

The COMICA logo is trademark which is registered and owned by Commlite Technology Co.,Ltd
Email: support@comica-audio.com






